ohe

ofx
)
©
O
rt
N
Mo
D

@O 3 Bt} 23 10 Bt 22 2 9] vj4=9] =Y
@ 5 Hot &5 9 sjo] 2

® 4 B} Ze #2=0] 1o

@ FAFPo] A F<l A

r T1°0

@)1 el e Aazel m

Tl
1o

2

ules




2.

o5 & ftgee] ofd g B =7 (
@ {29 49 65 85

, 998, 1000}
@ {alxi= 429] ok}
@) {aiv= s0mTH 2 59] w4}

@ {x2 <x <40 A}

@{6, 12, 18, 24,---}

@ {1, 2, 3, 6, 7, 14, 21, 42}
® {55, 60, 65, 70, ---}
(OF7}




3. Al AT A = {x]xE20 ol519] AL}, B = {x| 2% 159] 5},
C = {x|xE20 ol5te] 4} ), W 4, B, € o G BAZ
7182 tehjole.
> &

[>®et: BcCcaA

7o) gL davtdygos ehyw
A=1{1, 2, 3, 4,---,20}

B={1, 3, 5, 15}

c={1,3,5 7,---,19}

.BcCcA




& % 69] uj50] o] BRG] obd 27

@ 129 v S @ 189 HjZ9] gt
@209 5] 1 @ 249] w5-2] Wk
® 369 Wi40] W

~&B

6 2] Hj=o] MetS dAavtdr oz el (6, 12, 18, 24, 36,
--joltt,
12 9] vij4=2] 35, 18 9] wi4=2] gk, 24 9] vj=2] A, 36 2

Hl4o] WFL BE 69 4o W] FEAZol




toizt.

<l

T gkt Ao,
whEbA] 22 = 2x 2

i

4 () ol




e

B

i

FAFA=(1, 2, 3}, B={x]|x=3 9 o} oA A3t B 9
EFSHE= A o] HEXGS BE faloizt,

>
>
> ®He: (1, 3)
>

He Do, 2, 3

U B S PaUggoR YehE B= (1, 2, 4) o102 A
A9 REAT F 1, 38 UAE EUSE REATE T4
{1, 31,41, 2, 3} °|tt.




A A = (2,3,5,7) o FEHT
23517 i% HEXS 7H =9

© 174 @ 271 ®3A @ ® 571

BHEA EFHI, 32 BFSHA b

{2,51,{2,7),12,5,7) ©| B2 47jo|T}.




A A = {xlx=Txn-4, n& AAF} o] st o+ F 22
AL BT 12H?

D 3¢A @ 4€eA ©) I&F\

@ 10¢A )17 A

A=1{3, 10, 17, ---}
D3ecA
@4¢A
@10eA




9. & ZFA£B ALY

@ A=1{2,4,8}, B={8,2,4}

@ A=1{1,3,5,7,9}, B={x|x& 10 °o|5}9] &}

® A={a, b, ¢, 3},B=13, ¢, b, a)

@ A={x|x=T0l5t] &5}, B={x|xE 8 °lote] &5}
@A = 5.10.15.1. B = {x] x= 100 ol5}] 5] 5]

B = {x| x 100 ©]5}] 59 ujj4:}
= {5,10,15,--,100} # A




10.

S AV A=(bc},B={a, b c,d el Nt AcXcBE
&St A X 7t E S+ 9l A2 BF 1212 (AE 27H)

® (b, ¢} ¢ {a, c, e}
@ {b’ C} (a {a, b, f}




